

			Vendor Ranking		Page 1 of 1
Letting:	08220614	June 14, 2022 02:30 PM	Call Order: 001	Contract: E	8T88
District:	Turnpike		Counties: ORANGE	Fed Aid No: N	/A
Contract Time:	60 CALEND	AR DAYS		Project(s): 4	4708015201 (*)
Contract Desc:	OFF RAMP	LEFT TURN CLOSURE - MP	259.7		

Ranl	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid	
1	GARCIA CIVIL CONTRACTORS LLC	Responsive	Winning bid	\$369,299.54	100.00% Int	tent to AWARD
2	AJ GENERAL CONSTRUCTION SERVICES, INC.	Responsive	Non-Winning Bid	\$478,148.00	129.47%	
3	LEON AMERICA CONSTRUCTION	Responsive	Non-Winning Bid	\$596,052.94	161.40%	

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: JUNE 28, 2022, 4:00 PM



		Tabulation of Bids					
Letting:	08220614	June 14, 2022	Call Order:	001	Contract:	E8T88	
District:	Turnpike		Counties:	ORANGE	Fed Aid No	: N/A	
Contract Time:	60 CALENDA	AR DAYS			Project(s):	44708015201 (*)	

Contract Descr: OFF RAMP LEFT TURN CLOSURE - MP 259.7

The work specified in this contract consists of providing all labor, materials, equipment, and incidentals necessary to construct a median concrete barrier wall on the SR 91 off ramp left turn closure at the Milepost (MP) 259.7, asphalt pavement, concrete curb and gutter, clearing and grubbing, pavement markings, removable of steel barrier wall, and furnish and install crash cushion with all associated components.

Prior to beginning work under this Contract, the Contractor shall submit to the Engineer for approval, two copies of the Contractor's proposed plan and methods for performing the work, including a listing of equipment and personnel anticipated for use.

The Contractor shall perform all work during day hours in accordance with the Turnpike Lane Closure Policy.

No U-turns shall be permitted as a condition of this Contract, except at Service Plazas.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS PROJECT.

Line No / Item ID Alternate Item Description	Quantity Units	(1) GARC CONTRACT		(2) AJ GE CONSTRUCTIO	N SERVICES,	• • •	AMERICA RUCTION
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (I	MAINTENANC	E SUPPORT SER	VICES (MH				
0005 0110 4 10 REMOVAL OF EXISTING CONCRETE	82.000 SY	45.76000	3,752.32	43.47000	3,564.54	13.44000	1,102.08
0010 0120 1 REGULAR EXCAVATION	2.800 CY	686.26000	1,921.53	1,150.00000	3,220.00	1,209.78000	3,387.38
0015 0285701 OPTIONAL BASE, BASE GROUP 01	25.000 SY	136.48000	3,412.00	184.00000	4,600.00	1,209.78000	30,244.50
0020 0334 1 12 SUPERPAVE ASPHALTIC CONC, TRAFFIC B	2.700 TN	1,122.77000	3,031.48	1,396.10000	3,769.47	6,721.02000	18,146.75



			Т	abulation of Bi	ds			Page 2 of 4
Letting: 0822	0614 Jun	ie 14, 2022	Cal	I Order: 001		Contract:	E8T88	
Line No / Item ID Item Description	Alternate	Quantity Units	(1) GARC CONTRACT		(2) AJ GE CONSTRUCTIO	N SERVICES,		
( ) indicates item is bid as	Lump Sum		Unit Price	Ext Amount	INC Unit Price	C. Ext Amount	Unit Price	Ext Amount
SECTION: 00	001 (M.	AINTENANC	E SUPPORT SER	VICES (MH				
0025 0520 1 10 CONCRETE CURB & GU	TTER, TYPE F	254.000 LF	29.54000	7,503.16	59.34000	15,072.36	40.33000	10,243.82
0030 0520 5 11 TRAFFIC SEPARATOR C TYPE I, 4' WIDE	ONCRETE-	2.000 LF	473.09000	946.18	230.00000	460.00	1,344.20000	2,688.40
0035 0521 1 11 MEDIAN CONCRETE BAI HEIGHT	RRIER, 38"	80.000 LF	406.17000	32,493.60	362.25000	28,980.00	1,344.20000	107,536.00
0040 0521 60 1 METAL BARRIER, MOVA GATE	BLE BARRIER	(1.000) LS	209,554.34000	209,554.34	215,165.00000	215,165.00	24,195.66000	24,195.66
0045 0544 3 1 CRASH CUSHION, TL-3,	NARROW	1.000 EA	35,099.46000	35,099.46	35,375.00000	35,375.00	33,605.09000	33,605.09
0050 0570 1 2 PERFORMANCE TURF, S	SOD	144.000 SY	15.30000	2,203.20	24.15000	3,477.60	8.07000	1,162.08
0055 0700 3401 SIGN PANEL, INSTALL, U	JP TO 12 SF	1.000 EA	324.90000	324.90	460.00000	460.00	2,016.31000	2,016.31
0060     0705 10  2 OBJECT MARKER, TYPE	2	1.000 EA	370.50000	370.50	230.00000	230.00	672.10000	672.10



		т	abulation of Bi	ds			Page 3 of 4
Letting: 08220614	June 14, 2022	Cal	l Order: 001		Contract:	E8T88	
Line No / Item ID Alternat	te Quantity Units	(1) GARC CONTRACT		(2) AJ GE CONSTRUCTIO	N SERVICES,		
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	INC Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(MAINTENANC	E SUPPORT SER	VICES (MH				
0065 0711 11124 THERMOPLASTIC, STANDARD, W SOLID, 18" FOR DIAGONALS AND CHEVRONS	95.000 HITE, LF	11.40000	1,083.00	13.80000	1,311.00	134.42000	12,769.90
0070 0711 15201 THERMOPLASTIC, STANDARD-OF GRADED ASPHALT SURFACES, YELLOW, SOLID, 6"	0.140 PEN GM	7,410.00000	1,037.40	16,100.00000	2,254.00	13,442.04000	1,881.89
0075 0711 17 1 THERMOPLASTIC, REMOVE EXIS THERMOPLASTIC PAVEMENT MARKINGS- SURFACE TO REMAIN		5.70000	2,929.80	5.75000	2,955.50	201.63000	103,637.82
0080 E101 1 1 MOBILIZATION	1.000 LO	32,204.30000	32,204.30	76,259.03000	76,259.03	94,094.25000	94,094.25
0085 E102 1 3 MAINTENANCE OF TRAFFIC (SITE SPECIFIC)	1.000 LO	20,520.00000	20,520.00	65,469.50000	65,469.50	147,862.39000	147,862.39
0090 E110 2 CLEARING & GRUBBING	0.030 AC	363,745.50000	10,912.37	517,500.00000	15,525.00	26,884.07000	806.52
0001 MAINTENANCE SUPPORT S SERVICES (MH)	Section Totals:		\$369,299.54		\$478,148.00		\$596,052.94

**Contract Grand Totals:** 

\$369,299.54

\$478,148.00

596,052.94



	Tabulation of Bids								
Letting:	08220614	June 14, 2022	Call Order: 001	Contract:	E8T88				
	NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.								